Moments of Inertia

Ranking Exercise

(1) Consider the following 5 objects (a solid square, a solid disk, a hollow square a thin ring and a thin rod).  Each of them has the same mass M and the same height H.  The rotation axis of each is perpendicular to the page and passes through the center of mass of the object, as shown.
[image: image1.emf]


Now using the tables and the parallel axis theorem, calculate each of these moments of inertia (in terms of M and H) to see if your intuition was correct.
Solid Square    
I = ________
Solid Disk

 I = ________
Hollow Square 
I = ________
Thin Ring    

I = ________
Thin Rod 

I = ________

(2) If I had to calculate the moment of inertia of the Earth, my first guesstimate would be to say that I = 2/5 Me Re2. Do you think this would be an extremely good measure of I?  If not, would you expect the actual value of I to be higher or lower than your estimate?  Support your answer.
